
UPP609400 - PRESS AND PULL COMBINATION KIT

Parts Breakdown



Item: UPP609400

Description: PRESS AND PULL COMBINATION KIT

 Part List of: UPPS399 UPPS400 UPP609400Notes:

Figure No Part Number Description No. Reqd Warranty Code

1 AA609400/S10 10MM SPINDLE F/UPPS400 1 D

2 AA609400/S12 SPINDLE M 12 1 D

3 AA609400/S14 M14 SPINDLE F/ UPPS400 1 D

4 AA609400S16 SPINDLE M16 W/O NUT 1 D

5 AA609400/D10 10MM NUT W/BEARING F/UPPS40 2 D

6 AA609400/D12 M12-1.50 NUT W/BEARING F/60940 2 D

7 AA609400/D14 14MM NUT W/BEARING F/UPPS40 2 D

8 AA609400/D16 16MM NUT W/BEARING F/UPPS400 2 D

9 AA609400460C NEON CASE FOR 609 400/460 1 D

10 AA609400/P4 STEP DISC NO 4 F/ UPPS400 1 D

11 AA609400P3 STEP DISC NO 3 1 D

12 AA609400/P2 STEP DISC 2 F/UPPS400 1 D

13 AA609400/P1 STEP DISC #1 FOR 609400 1 D

14 AA609-460 C-CLAMP W/IMPACT SPINDLE 1 D

15 AA609050 CERAMIC LUBE 1 D

16 AA609420TR2M TR20 NUT W/ BEARING F/ 432 030 1 D

17 AA609420TR20 SPINDLE TR20 F/ 609400-460 1 X

18 AA609420M10 COUNTER NUT M10 1 D

19 AA609420M12 COUNTER NUT M12 1 D

20 AA609420M14 COUNTER NUT M14 1 D

21 *AA609 400/34-44 PRESS-PULL SLEEVE 34MM 1

22 *AA609 400/36-46 PRESS-PULL SLEEVE 36MM 1

23 *AA609 400/38-48 PRESS-PULL SLEEVE 38MM 1

24 *AA609 400/40-50 PRESS-PULL SLEEVE 40MM 1

25 *AA609 400/42-52 PRESS-PULL SLEEVE 42MM 1

26 *AA609 400/44-54 PRESS-PULL SLEEVE 44MM 1

27 *AA609 400/46-56 PRESS-PULL SLEEVE 46MM 1

28 *AA609 400/48-58 PRESS-PULL SLEEVE 48MM 1

29 *AA609 400/50-60 PRESS-PULL SLEEVE 50MM 1

30 *AA609 400/52-62 PRESS-PULL SLEEVE 52MM 1

31 *AA609 400/54-64 PRESS-PULL SLEEVE 54MM 1

32 *AA609 400/56-66 PRESS-PULL SLEEVE 56MM 1

33 *AA609 400/58-68 PRESS-PULL SLEEVE 58MM 1



34 *AA609 400/60-70 PRESS-PULL SLEEVE 60MM 1

35 *AA609 400/62-72 PRESS-PULL SLEEVE 62MM 1

36 *AA609 400/64-74 PRESS-PULL SLEEVE 64MM 1

37 *AA609 400/66-76 PRESS-PULL SLEEVE 66MM 1

38 *AA609 400/68-78 PRESS-PULL SLEEVE 68MM 1

39 *AA609 400/70-80 PRESS-PULL SLEEVE 70MM 1

40 *AA609 400/72-82 PRESS-PULL SLEEVE 72MM 1


